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©) $200 + T
= L *Ew” 3 ’i‘/‘j /ﬁﬁzltg J“I
7 . P Rl I F T e T L ] L ARCaE) R
Z Koy & il 1 i ETTELRES -
% & &5 Bl |RAE IR
m m m m m m m3 m3 ml mj m3 m3
0.84 | 1.042 0.06 | 0.03 1.5 0.8 0.6
1 [##Bh| 1-1-1c 2.10 | 0.65] 0.967 [ 1.005| 0.10 | 0.10
0.91 | 0.967 0.05 | 0.05 0.9 0.5 0.3
2 | #Bh| 1-1-1c 0.90 [ 0.65] 1.768 | 1.368 | 0.22 [ 0.22
0.95| 1.768 0.05 | 0.05
3 [ MiBh| 1-1-1c 3.50 [ 0.95] 1.838 [ 1.803 | 0.22 [ 0.22 5.8 3.7 1.7
0.92 | 1.838 0.05 | 0.05 0.9 0.5 0.3
4 | #lBh| 1-1-1c 0.80 [ 0.65] 0.967 [ 1.403 | 0.22 [ 0.22
0.83 | 0.967 0.05 | 0.05 98.7 31.0 64.3
5 [ #Bh| 1-1-1c 145.20 | 0.65 | 0.967 [ 0.967 | 0.22 | 0.22
0.87 | 0.967 0.05 | 0.05 0.7 0.3 0.4
6 [ #lBh| 1-1-1c 0.90 [ 0.65] 1.293 [ 1.130| 0.22 [ 0.22
0.89 | 1.293 0.05 | 0.05 8.4 4.0 4.0
7 | AdBh] 1-1-1c 9.30 | 0.65| 1.168 | 1.231 | 0.22 ] 0.22
0.82 | 1.168 0.20 | 0.05 0.6 0.2 0.4
8 |#iBh| 1-1-1c 0.90 [ 0.65] 0.967 [ 1.068| 0.14[ 0.29
0.80 | 0.967 0.20 | 0.05 40.6 11.6 40.6
9 [#iBh| 1-1-1c 72.90 | 0.65 [ 0.967 | 0.967 ] 0.14] 0.29
0.95 | 0.967 0.20 | 0.05
10 | 4dih| 1-1-1c 1.20 | 0.95] 2.217| 1.592 | 0.14] 0.29 1.6 1.0 1.6
0.95| 2.217 0.20 | 0.05
11 | 4dih| 1-1-1c 2.00 [ 0.95] 2.217[ 2.217| 0.14| 0.29 3.8 0.9 1.9 2.8
0.95| 2.217 0.20 | 0.05
12 | 4dih| 1-1-1c 1.20 | 0.95] 0.967 | 1.592 | 0.14] 0.29 1.6 1.0 1.6
0.80 | 0.967 0.20 | 0.05 18.7 5.3 18.7
13 | #fiBh| 1-1-1c 33.60 | 0.65[ 0.967 | 0.967] 0.14] 0.29
0.80 | 0.967 0.20 | 0.05 19.2 5.5 19.2
14 | #fiBh| 1-1-1c 34.50 | 0.65 [ 0.967 | 0.967 ] 0.14] 0.29
0.95 | 0.967 0.20 | 0.05
15 | 4dih] 1-1-1c 1.20] 0.95] 2.215] 1.591 | 0.14] 0.29 1.6 1.0 1.6
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@® $200 +T
— N AfEE +I
7 ) | AL Ry | R | TR ] HSL PR LA AT
& | Koy B & | BEEE [ 0 EIElRES _
% 2 e BiiL | (A I
m m m m m m m3 m3 m’ m3 m3 m3
0.95| 2.215 0.20 | 0.05
16 [##iBh] 1-1-1c 2.00 [ 0.95] 2.214 [ 2.215| 0.14| 0.29 3.8 0.9 1.9 2.8
0.95| 2.214 0.20 | 0.05
17 [##iBh] 1-1-1c 1.20 | 0.95] 0.967 | 1.591 | 0.14] 0.29 1.6 1.0 1.6
0.80 | 0.967 0.20 | 0.05 42.1 12.0 42.1
18 [##iBh] 1-1-1c 75.50 | 0.65 [ 0.967 | 0.967 | 0.14| 0.29
0.90 | 0.967 0.20 | 0.05 0.8 0.4 0.8
19 [##iBh] 1-1-1c 0.80 | 0.65] 1.930 [ 1.449| 0.14| 0.29
0.95| 1.930 0.20 | 0.05
20 | #HBA[ 1-1-1c 3.60 [ 0.95] 1.930 [ 1.930 | 0.14| 0.29 5.9 0.6 3.4 5.2
0.90 | 1.930 0.20 | 0.05 0.9 0.5 0.9
21 | #HBh[ 1-1-1c 0.90 [ 0.65] 0.967 [ 1.449 | 0.14| 0.29
0.80 | 0.967 0.20 | 0.05 9.7 2.8 9.7
22 | MHBA[ 1-1-1c 17.40 | 0.65] 0.967 | 0.967 [ 0.14 | 0.29
0.89 | 0.967 0.20 | 0.05 0.8 0.4 0.8
23 | #HBh[ 1-1-1c 0.80 | 0.65] 1.873 [ 1.420| 0.14| 0.29
0.95| 1.873 0.20 | 0.05
24 | #HBA[ 1-1-1c 1.90 | 0.95] 1.873| 1.873 | 0.14] 0.29 3.0 0.2 1.8 2.8
0.89 | 1.873 0.20 | 0.05 0.8 0.5 0.8
25 | #iBh[ 1-1-1c 0.90 [ 0.65] 0.967 [ 1.420 | 0.14| 0.29
0.82 | 0.967 0.20 | 0.05 33.2 11.7 33.2
26 | #iBA[ 1-1-1c 53.70 | 0.65 [ 1.117| 1.042] 0.14] 0.29
0.84 | 1.117 0.20 | 0.05 10.7 4.6 10.7
27 | MiBh[ 1-1-1c 15.10 | 0.65| 1.184 | 1.151 | 0.14] 0.29
0.85| 1.184 0.20 | 0.05 0.7 0.3 0.7
28 | MHBA[ 1-1-1c 0.90 [ 0.65] 1.181 [ 1.183| 0.14| 0.29
0.85| 1.181 0.20 | 0.05 1.1 0.5 1.1
29 | #HBA[ 1-1-1c 1.50 | 0.65| 1.181| 1.181 | 0.14] 0.29
0.85| 1.181 0.20 | 0.05 0.7 0.3 0.7
30 | #HBA[ 1-1-1c 0.90 [ 0.65] 1.177 [ 1.179| 0.14| 0.29
fdi B 487. 30 320. 40 43. 60 69. 40 272.00
ol
M
I 487. 30 320. 40 43. 60 69. 40 272. 00
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m m m m m m m I‘[‘l3
M10150-20-1-1 045 0525 040
1 4| 1-1-1c 2.10 1.65 1.58
0.23
2 |[Hhn| 1-1-1c 0.90 0.90 0.90
3 | AdiBh| 1-1-1c 3.50 3.50 3.50 1.25
0.20
4 | AiBh| 1-1-1c 0.80 0.80 0.80
36.45
5 | AdiBh| 1-1-1c 145.20 145.20 145.20
0.23
6 [#iBh| 1-1-1c 0.90 0.90 0.90
2.33
7 M| 1-1-1c 9.30 9.30 9.30
0.23
8 | Aish| 1-1-1c 0.90 0.90 0.90
18.30
9 [AEh| 1-1-1c 72.90 72.90 72.90
10 | #fiBh| 1-1-1c 1.20 1.20 1.20 0.43
11 | #fiBh| 1-1-1c 2.00 2.00 2.00 0.72
12 | #fiBh| 1-1-1c 1.20 1.20 1.20 0.43
8.43
13 | #fiBh| 1-1-1c 33.60 33.60 33.60
8.66
14 | #fiBh| 1-1-1c 34.50 34.50 34.50
15 | #fiBh| 1-1-1c 1.20 1.20 1.20 0.43




¢ 200 AT T

G¢

A L
7 e i | Ew e E
= 5l SER X SERHE R | NLME
m m m m m IH3
16 | ##HBh 2.00 2.00 2.00 0.72
17 | ##HBh 1.20 1.20 1.20 0.43
18.95
18 | ##Bh 75.50 75.50 75.50
0.20
19 | ##HBh 0.80 0.80 0.80
20 | 4B 3.60 3.60 3.60 1.29
0.23
21 | 4#Bh 0.90 0.90 0.90
4.37
22 | 4B 17.40 17.40 17.40
0.20
23 | 4#Bh 0.80 0.80 0.80
24 | H#Bh 1.90 1.90 1.90 0.68
0.23
25 | 4B 0.90 0.90 0.90
13.48
26 | 4B 53.70 53.70 53.70
3.79
27 | 4B 15.10 15.10 15.10
0.23
28 | 4B 0.90 0.90 0.90
0.38
29 | f#iBh 1.50 1.50 1.50
0.23
30 | f#Bh 0.90 0.90 0.90
4B 487. 30 486. 85 486. 78 124.13
&t
HM
AR 487. 30 486. 85 486. 78 124.13
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©) $200 +RT CiESiUp:
TRT (RIS FE IR TE: RRE _ .
S AL — e SRLLECT R R LT (RS RAR SR IR -
b x| w o | AT | EEE | py H=2.00m H=2.50m H=3.00m H=3.50m H=3.80m e
7
% 7 Eiae) pegg  [1=2.00m{H=2.50m| H=2.50m|H=3.00m|[1=3.00m|H=3.50m|H=3.50m| H=4.00m| H=4.00m|H=2.00m|H=2.50m |H=3.00m|[1=3.50m|11=4.00m| 1B 25% 3P
m m m m m m m m m m m m m m m m m m m

M10150-20-1-1 084
1L 4| 1-1-1c 2.10 0.65
0.91
2 [ M| 1-1-1c 0.90 0.65
0.95
3 || 1-1-1c 3.50 3.50 3.50 3.50 0.95
0.92
4 | #Hh| 1-1-1c 0.80 0.65
0.83
5 | #ign| 1-1-1c 145.20 0.65
0.87
6 [ M| 1-1-1c 0.90 0.65
0.89
7 | Hsh| 1-1-1c 9.30 0.65
0.82
8 || 1-1-1c 0.90 0.65
0.80
9 |#im| 1-1-1c 72.90 0.65
0.95
10 | #iBh| 1-1-1c 1.20 1.20 1.20 1.20 0.95
0.95
11 | #ih| 1-1-1c 2.00 2.00 2.00 2.00 0.95
0.95
12 | #ih| 1-1-1c 1.20 1.20 1.20 1.20 0.95
0.80
13 [ #iBh] 1-1-1c 33.60 0.65
0.80
14 [ #iBh] 1-1-1c 34.50 0.65
0.95
15 | #ih| 1-1-1c 1.20 1.20 1.20 1.20 0.95
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©) $200 +8T EETE
;:; AT _f%z (%%ﬂﬂﬁ%ﬁ)ﬁ%&ﬁ-ﬁi) LE&_:#E%’WA‘% Tﬁﬁzfﬂi}iﬁ _ T R B S ) YT o
v el w ow | A | e B H=2.00m H=2.50m H=3.00m H=3.50m H=3.80m e
% o ey pegg  [H=2.00m[H=2.50m|H=2.50m|H=3.00m| H=3.00m| H=3.50m|H=3.50m|H=4.00m| H=4.00m|H=2.00m |H=2.50m |H=3.00m |H=3.50m H=4.00m 1B 28 3P
m 1m m 1m m 1 m m m m m 1 m m m m m 1m 1
0.95
16| #iBh| 1-1-1c 2.00 2.00 2.00 2.00 0.95
0.95
17 | #hBh| 1-1-1c 1.20 1.20 1.20 1.20 0.95
0.80
18 [ #HBh| 1-1-1c 75.50 0.65
0.90
19 [#HBh] 1-1-1c 0.80 0.65
0.95
20 || 1-1-1c 3.60 3.60 3.60 3.60 0.95
0.90
21 | By 1-1-1c 0.90 0.65
0.80
22 | fBh| 1-1-1c 17.40 0.65
0.89
23 | #Eh| 1-1-1c 0.80 0.65
0.95
24 | #HBh| 1-1-1c 1.90 1.90 1.90 1.90 0.95
0.89
25 | fEh| 1-1-1c 0.90 0.65
0.82
26 | fgh| 1-1-1c 53.70 0.65
0.84
27 | #gh| 1-1-1c 15.10 0.65
0.85
28 | fBh| 1-1-1c 0.90 0.65
0.85
29 | #gh| 1-1-1c 1.50 0.65
0.85
30 | fHBh| 1-1-1c 0.90 0.65
fdi B 487. 30 4. 80 13. 00
13. 80 4. 00 13. 80 4. 00
adt
H 13. 80 4. 00 13. 80 4. 00
N 487. 30 4. 80 13.00
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EhAER LESTUE AP A 1A T
ol ow | AT e | 208 B CEEUE e ET ) I E T I e e M e I B T
a5 FERE t=15cm| 15cm<t t=3cm |t=16cm| t=5cm [t=22cm|t=14cm| t=3cm [t=17cm|[t=15cm| t=6cm [t=10cm|[t=3cm
m m m m 1'1’13 1'1’13 1'1’13 1'1’13 1'1’12 1'1’12 1'1’12 1'1’12 1'1’13 1'1’13 1'1’13 1'1’13 1'1’13 1'1’13 m2
M10150-20-1-1 084
M) 1-1-1c 2.10 1.76 1.76
0.91
| 1-1-1c 0.90 0.91 1.80 0.04 0.82 0.82
0.95
| 1-1-1c 3.50 0.95 7.00 0.17 3.33 3.33
0.92
| 1-1-1c 0.80 0.92 1.60 0.04 0.74 0.74
0.83
| 1-1-1c 145.20 0.83 | 290.40 6.05 120.95 | 120.95
0.87
| 1-1-1c 0.90 0.87 1.80 0.04 0.78 0.78
0.89
| 1-1-1c 9.30 0.89 | 18.60 0.41 8.24 8.24
0.82
) 1-1-1c 0.90 1.80 0.15
0.80
mih| 1-1-1c 72.90 145.80 11.71
0.95
M) 1-1-1c 1.20 2.40 0.23
0.95
M) 1-1-1c 2.00 4.00 0.38
0.95
M) 1-1-1c 1.20 2.40 0.23
0.80
| 1-1-1c 33.60 67.20 5.40
0.80
| 1-1-1c 34.50 69.00 5.54
0.95
] 1-1-1c 1.20 2.40 0.23
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¢ 200 EL K OMRIEIH T

B EE EEEEEL BT
T el w | A AT B WETVELROIT, e (3] Wk |#8(3)] Bl | ek e (15)] e D] IRB | W |Zwm0s] B
= e FEKAE t=15cm| 15cm<t t=3cm [t=16cm| t=>5cm |t=22cm|t=14cm| t=3cm [t=17cm|t=15cm| t=6cm |t=10cm|t=3cm|t=17cm
m m m m m? Il’l3 m? Il’l2 Il’l2 Il’l2 Il’l2 Il’l3 Il’l3 Il’l3 Il’l3 Il’l3 Il’l3 le le
0.95
16 [ #HBh] 1-1-1c 2.00 4.00 0.38
0.95
17 [ #HBh] 1-1-1c 1.20 2.40 0.23
0.80
18 [ #HBh| 1-1-1c 75.50 151.00 12.13
0.90
19 [#HBh] 1-1-1c 0.80 1.60 0.14
0.95
20 | fHBh| 1-1-1c 3.60 7.20 0.68
0.90
21 | By 1-1-1c 0.90 1.80 0.16
0.80
22 | fHBh| 1-1-1c 17.40 34.80 2.79
0.89
23 | #Eh| 1-1-1c 0.80 1.60 0.14
0.95
24 | By 1-1-1c 1.90 3.80 0.36
0.89
25 | fgh| 1-1-1c 0.90 1.80 0.16
0.82
26 | fgh| 1-1-1c 53.70 107.40 8.79
0.84
27 | #gh| 1-1-1c 15.10 30.20 2.54
0.85
28 | fBh| 1-1-1c 0.90 1.80 0.15
0.85
29 | fBh| 1-1-1c 1.50 3.00 0.25
0.85
30 | fHBh| 1-1-1c 0.90 1.80 0.15
B 487. 30 321.20 | 649.20 59. 67 134.86 | 134.86 1.76 1.76
At
Hiph
ELN 487. 30 321.20 649. 20 59. 67 134. 86 134. 86 1. 76 1. 76
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©) ¢ 200
i AR IH T
7; LR AL )Eg%gﬂ AR |0 (13)| BAR | T 28 0 | KE 0| KR | Tems| e o) | tE o) | Femg| TEk| 2 (3) | FEk| Tem| s
% B B &5 t=10cm|t=>5cm|t=27cm|t=14cm|t=5cm|t=>5cm|t=29cm|t=14cm|t=5cm|t=5cm|t=10cm| t=10cm|t=5cm|t=10cm|t=10cm vl
3 2 2 2 3 2 2 2 3 2 2 3 3 3 3
m m m m m m m m m m m m m m m m
M10150-20-1-1

1| #fEh| 1-1-1c 2.10 4
2 | High| 1-1-1c 0.90 2
3 || 1-1-1c 3.50 2
4 | Hih| 1-1-1c 0.80 2
5 |Hih| 1-1-1c 145.20 2
6 | High| 1-1-1c 0.90 2
7| A#iBh] 1-1-1c 9.30 2
8 [#Hdh| 1-1-1c 0.90 0.74 0.74 8
9 [#Hh| 1-1-1c 72.90 58.54 58.54 8
10 | #fiBh| 1-1-1c 1.20 1.14 1.14 8
11| #fiBh| 1-1-1c 2.00 1.90 1.90 8
12 | fiBh| 1-1-1c 1.20 1.14 1.14 8
13 | fiBh| 1-1-1c 33.60 26.98 26.98 8
14 | #fiBh| 1-1-1c 34.50 27.70 27.70 8
15 | fiBh| 1-1-1c 1.20 1.14 1.14 8
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©) $ 200
e JFLE REIHT
7; N AFL EE%EE Bz |zmas| Bix | vEm e | wEeo| B | T Eeo |58 eo) | LEm| e 2E ) | el TEme| g
% B AE iz t=10cm|t=>b5cm|t=27cm|t=14cm|t=5cm|t=5cm|t=29cm|t=14cm|t=5cm|t=>5cm|t=10cm|t=10cm|t=>5cm|t=10cm|t=10cm Ll
3 2 2 2 3 2 2 2 3 2 2 3 3 3 3
m m m m m m m m m m m m m m m m

16 [ #Bh] 1-1-1c 2.00 1.90 1.90 8
17 [ #Bh] 1-1-1c 1.20 1.14 1.14 8
18 [ #HBh| 1-1-1c 75.50 60.63 60.63 8
19 [#HBh] 1-1-1c 0.80 0.72 0.72 8
20 | fHBh| 1-1-1c 3.60 3.42 3.42 8
21 | By 1-1-1c 0.90 0.81 0.81 8
22 | fBh| 1-1-1c 17.40 13.97 13.97 8
23 | #gh| 1-1-1c 0.80 0.72 0.72 8
24 | #Bh| 1-1-1c 1.90 1.81 1.81 8
25 | fHgh| 1-1-1c 0.90 0.80 0.80 8
26 | fgh| 1-1-1c 53.70 43.93 43.93 8
27 | #gh| 1-1-1c 15.10 12.68 12.68 8
28 | fgh| 1-1-1c 0.90 0.76 0.76 8
29 | fBh| 1-1-1c 1.50 1.27 1.27 8
30 | #HBh| 1-1-1c 0.90 0.76 0.76 8

i) 487. 30 264. 60 264. 60
At

B

EEL 487. 30 264. 60 264. 60
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2 K| % & b FERE | 08 EIEIRES . ~
= B & Bl | IRIEIH
m m m m m m m3 m3 m’ m3 m? m3
0.82 | 1.177 0.20 | 0.05 84.9 31.9 84.9
1L [ 4#Bs[ 1-1-1c 132.10 | 0.65| 0.967 | 1.072 | 0.14| 0.29
0.95 | 0.967 0.20 | 0.05
2 | #HBh| 1-1-1c 2.80 | 0.95] 3.204| 2.086 | 0.14| 0.29 5.0 0.8 2.7 4.1
0.95| 3.204 0.20 | 0.05
3 | 4fiBh| 1-1-1c 11.30 | 0.95] 3.204 | 3.204 | 0.14] 0.29 32.2 15.6 10.7 14.9
0.95| 3.204 0.20 | 0.05
4 [#Bh| 1-1-1c 2.20 | 0.95] 0.967 | 2.086 | 0.14| 0.29 3.9 0.7 2.1 3.1
0.80 | 0.967 0.20 | 0.05 17.2 4.9 17.2
5 | #Bh| 1-1-1c |m1-1-1c-1] 30.90 | 0.65| 0.967 | 0.967 | 0.14| 0.29
6
7
8
9
10
11
12
13
14

15
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52“‘ )\}L j\ﬁglj‘gﬂlj ﬁ; E
| & = BE AR | NFLE | 2 EE | PEE® -
L |ERE R e H o e R e
&
m m m m m m m m3
33.16
1| fliBh| 1-1-1c 132.10 | 132.10 132.10
2 | 4liBh| 1-1-1c 2.80 2.80 2.80 1.00
3 | 4liBh| 1-1-1c 11.30 | 11.30 11.30 4.05
4 | #lBh| 1-1-1c 2.20 2.20 2.20 0.79
7.76
5 | #iBh| 1-1-1c |mi-1-1c-1] 30.90 | 30.90 30.90
6
7
8
9
10
11
12
13
14

15
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@ $200 HRT
T N AR E-E) EBCHREIGE B .
?;ﬁ K4 % AL )Eggﬂ HTZ.OOnr(ﬁéE ng}fZRz;mfﬁ ) HjS.OEO':Jnj< TXHf?ffn H=3.80m e XRT
% = 7 E ey *:i%% H=2.00m| H=2.50m| H=2.50m| H=3.00m | H=3.00m| H=3.50m| H=3.50m| H=4.00m | H=4.00m| H=2.00m| H=2.50m [ H=3.00m | H=3.50m | H=4.00m| 1[% 2B 3B
m m m m m m m m m m m m m m m m m m

L | f#Bh| 1-1-1c 132.10

2 | ##Bh| 1-1-1c 2.80 2.80 2.80 2.80

3 B[ 1-1-1c 11.30 11.30 11.30 11.30

4 | #EBh| 1-1-1c 2.20 2.20 2.20 2.20

5 | ##Bh| 1-1-1c |mi-1-1c-1] 30.90
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DIP GX ¢ 200 B A O&E
% 1.=5.00(m)
B No. PRARA H 1 (m) 75 (m)
1 1-1-1c @  1.03 3.27 2
2 1-1-1c ® 1.75 2.52 2
3 1-1-1c @ 317 1.03 2
4 1-1-1c @D 1.53 2.55 2
5 1-1-1c 1.00 3.30 2
6 1-1-1c ®  3.77 0.18 2
7 1-1-1c @ @ 271 1.09 2
8 1-1-1c 1.50 2.34 2
9 1-1-1c @  1.83 1.96 2
10 1-1-1c (53 3.73 1
11 1-1-1c 50 52 1.08 2.42 2
12 1-1-1c 104 102 0.80 2.63 2
13 1-1-1c 3.23 1
14 1-1-1c 106 103 2.00 1.20 2
15 1-1-1c (60) 1.54 1.07 2
16 1-1-1c @ ® 0.0 1.59 2
17 1-1-1c @ @  1.44 0.85 2
18 1-1-1c @ 2.25 1
19 1-1-1c (B) 2.11 1
20 1-1-1c 2.00 1
21 1-1-1c @ 1.08 0.70 2
22 1-1-1c 1.36 1
23 1-1-1c 1.57 1
24 1-1-1c @ 0.66 1
25 1-1-1c 0.60 1
26 1-1-1c ® 2.29 1
27 1-1-1c 110 4.25 1
28 1-1-1c a1 3.80 1
7 16 A 27.03 m 56.55 m
2024.5 kg
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® M-y FE = 1
B 5 ® 2500/ & 1
SFL -y )” ¢ 2500 Seur-vs)T 1=2. 400
R -y L=2. 400
Ffr=yv)” 1=2. 100 = m 6.90
® -y 8 = 1
%= ¢ 2500 = m 2.50
@ -y EL AT 1
) B R L= 2.500 X x+1.439%4 = 13.610| m 13.61
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TR HKEIHEE (M1-1-1c-1)

¥4 B § B oy BT ¥ &
® i1 MR T ¢ 2500 1.97t & 1
(R4 . rahTiE)
Y T B AR40. 10
VU ¢ 250 1X (0.26740.10) X =« = 1.15
DIPE $200 1X (0.220+0.10) X = 1.01
| m 2.16
2757
Y T BHMEH0. 10 (R4 . rabTyE) t/m2
VU ¢ 250 1X 0.367 2 X /4 X 0.1492 = 0.016
DIP%% ¢ 200 1X 0.320 % X /4 X 0.1492 = 0.012
HET (R4 . abT¥E) t/m
1.439 X 1. 206 = 1.735
i t 1.763
@ JE/KERR LR ¢ 2500 =
AT A LB 1.9 m3/@pT X 1 = m3 1.9
@ SRS TE -y ¢ 2500
(HEA - HiiEHD) 2.50mXx 1. 206t/m = 3.015| t 3.015
(R2. HH:H)
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S ol ELZ A2
T BEdEE (Ml1-1-1c-1)
g B = AT =
SLHUAME S 0.10
2.538 + 0. 200 = 2.738
2.738 X tan22.5° X 8 = 9.073| m
='1.134
B AL HwoBE L 1.134 X 2.738 /2 X 1/2 X 8 = 6.210| m?2
Eu]
6.210 X 0.20 = 1.242| m3
KB T BAERIAs t= bem i
6.210 - x/4 X 1.50 "2 = 4. 443 m2
T T UhAREA t= 27cm
(RC-40)
6.210 - x/4 X 1.50 "2 = 4. 443 m2 4.
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SYLE T B EEEE (M1-1-1c-1)

4 i g T = HA B &
‘ 2 F )L
L — 7y x/4 X 2.538 X ( 7.941 - 0.200) = 39.162| m3 39. 16
A+

170y 1l FEIA T

2 MR LA
a7 Y — N x/4 X 2.500 X  (6.441 — 1.500) = 24. 254
PEbR 2
iz ) x/4 X 1.950 X 0. 160 = -0. 478
2
k| -) n/4 X 1.950 X  (6.441 — 0.160 — 1.500) =| -14.278
2
k| -) x/4 X 0.267 X( 2.500 — 1.950)/2 = -0.015
7 9.483| m3 9.48
2 R L L=
oo R L n/4 X 2.538 X ( 1.500 —  0.320) = 5.970
RC-40
PEbR 2 HIEE L ANFLE A
[ELRE « TERR| -) x/4 X 1.950 X( 1.500 — 0.150 — 0.011
ELEERIN CLEEPN
— 0. 100 —  0.150 ) = -3. 252
2 ATLE ARt Y >
Fay oo ) x/4 X 1.500 X ( 0.150 + 0.011 + 0.100
My s e
+ 0. 150 — 0.320 ) = -0. 161
2
JEREE| -) n/4 X 0.220 X ( 2.500 — 1.950)/2 = -0.010
7 2.547| m3 2.55
B A . i (L' 39. 162 = 39. 162 m3 39. 16
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SAF—FU— T + TS

%

e

T A22(20) t=hcm

4 B a i
M1-1-1c-1-1

SEHURAR ¢ 1500mm

SRS 4.010 m 4.010 m
5 | —KIEHI 1.25 m? 1.25 m’
A 3.61 m 3.61 m
i - SR i T 5.00 5.00 o
7 ZkyEH - m - m
1]/ Y+ I 3
K

it JH £ 1.43 m* ;
HRL T 1.69 m* Az m
a7)—MERL 2.08 m° 2.08 m°

¥ LAy T 9.29 m° 9.29 1’

S —YRHRE B T T A3 2 )—hod T s O

X TUARHI T A7V~ MBI T

BHAE T

S T As t=20cm 10.00 m 10.00 m

SR L T As t=20cm 6.25 m” 6.25 m”

PR XY t=2cm 0.04 m® 0.04 m*

BhALE LS T AsHl 1.25 m® 1.25 m®

T AT RC-40,t=29cm 5.72 m? 5.72 m®

#ET FHEIRATAS, =5om 5.72 m’ 5.72 m’




TAT =TV =L T (RERMERR

&
4 B & i
M1-1-1c-1-1
SIZARIN 7
7 DR ¢ 1500mm
A TAT— B t=2.7Tmm
F | SEHUE 4.010 m
| FHSTIE 4.000 m 4.00 m
7| REE= 0.703 t 0.703 t
Lo MEER 0.264 t 0.264 t
| BT A 8.17 m 8.17 m
M| ATy EE 0.275 t 0.275 t
PR LEE 0.428 t 0.428 t
PR A RN - it H 0.275 t 0.275 t
A+ T 3.610 m 3.610 m
lipdC N 1.500 m 1.500 m
779 ML
EAES 2.51 m 2.51 m
A& 1.13 m° 1.13 m°
A a7 U—NL
27—k T 18-8-25BB 1.35 m° 1.35 m°
TR T 3.00 m? 3.00 m?
ATy T Colll 1.35 m° 1.35 m°
FEREEA RC-40 4.48 m* 4.48 m*
SEHUEERE T
FtfEar 7V —h 18-8-40BB 0.27 m® 0.27 m®
B2 o) H-250 X 250 -t — t
BT
TR SEHUHIREOEE ¢ 1500 1 ¥ 1 ¥
SEHURAREOVE ¢ 1800 - e 758
T A 3.14 m? 3.14 m?
HE 0.73 t 0.730 t
78 THGEREME L 3.14 m? 3.14 m?
S,




M1-1-1-1c-1-13I3TT + T AR E Q)

i Al g -~k i kX O ®H g =R ¥ &
/,/’éh
" O
et T3 4 2
N S 2 T ! = 8 T
o S—H | = | e
= i/ \ N —J ,8_ % I
102 % 4 & s 200 2 g
5 O | k= Pl Al e | =1 o ch
T 18-8-25 / Tt
— ."' [=] ’
oo || L g B o 833 @
o — | g | BIF S pg g | vt RDS
e =2 T # = &= ﬁi% & e
1 (10 [ 10 |
— 4 Ly N 2
gy | —H M _EEUe20 | BEERVU ¢ 250 o
P -r~L Ilg R — |r% 177429, 780 Ql
0 _f [ A v 9,480 o :
(;_ _| ,.\. WA T gald E
(s $1500
= ",
i kY = 1] —
o) Hpru=t
4.3 _6 IsL_ )
A 74+=7V—h
FEOME 1500mm
1) F4F=7V—} Ny v @A) | o SEHTTRS Hi= 4.010 m
HrE R T < — R HREI H2= 0.400 m (BB T HARZL 27—k EREHE 1)
- R BT H3= HI-H2 = = 3.610 m YR R
WEL fEL h = 3.610 m 3.610 m
HEE 1 h = - m B+
- m
2) HRH 5 — AR A < WEE T, WA= 27— AR
V= 2.50%2.50 X (0.40-0.20)
AS=20cm
= 1.250 = 1.250 m® |- —WRHEHI
1.25 m®
ZRAEAI
HIR = 747 V—=bPOEE+ 7477V —NEX(80mm) + 434 (100mm)
= 1.500+0.080+0.100 = 1.680 m
V= 7 /4X1.680°2 X 1.000 2.217 m*/m
Ny V= 35 | 1) AV L Kbt
h= 3.610 m WOE A Rt
V= 2.217 X 3.610 8.003 m’ 8.00 m’
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M-1-1-1c-1-13 31T £ T

A E

b1 Al RE-~TiE B E v # ® A B =
3) HMELL MHREL GL-0.05m¥E T (442 5em)
s T AR 7Y — i 2.500X2.500 m
h=0.300-(0.200+0.270) = A0.170 m
FAT—EE R U =EIZR = 1.680 m
h=1.500-0.300-0.170 1.030 m
CEA AR 7)) — NS FE610.300)
FAF— RS R LR =747V NEOR = 1.500 m
h=4.010—1.500 = 2.510 m
RC-40 V= 2.500X2.500 % 0.250 1.563 m°
Pepr V= AHfL = 7 /4%0.822X0.25 A 0.132 m°
#H o= 1.431 m® 1.43 m?
RC-40 V= 7 /4X1.680°2X1.200 — 2.660 m*
Pepr V= AFL = 7 /4X1/2(0.820°2+1.050°2) X 0.43 —  A0.300 p?
V= AFL = /4X1.050°2X0.770 =  A0.667 m’
#Ho= 1.693 m® 1.69 m®
3.12 n®
a7y —hk V= 7 /4X1.500°2X (2.510—0.150) = 4.170 m®
HEREL
PEpR B V= AFLERIER = 7 /4X1.05072X (2.510—0.150-0.130) = A 1931 p®
V= NfLECHR 7/4X1.100°2X0.130 =  A0.124 1’
V= VU ¢ 250 =7 /4X0.267°2X(1.500-1.050)/2X = A 0.038 m*
?1* - 2.077 In3 2.08 m3
4) AT wE+ V= 125 + 8.00 + 0.04 — 9.990 m* 9.29 m?®
5) #fi%ET
SRR T As t=20cm L= (2.500+2.500) X 2 = 10.000 m 10.00 m
SRR T As t=20cm A= 2.50X2.50 = 6.250 m’ 6.25 m?
ed s 3l t=2cm 7 /4X1.68°2X0.02 = 0.044 m* 0.04
EhAERIL T AsHll V= 6.25%0.20 = 1.950 m* 1.25 m?
TrE g T RC-40 t=29cm A= 2.50%X2.50— 7 /4% 0.820°2 = 5.792 m> 5.72 m?
FET AR A= 2.50X2.50— 7 /4% 0.820°2 — 5.792 m’ 5.72 m®

7 A(20) t=5cm
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M1-1-1-1c-1-1 I T {R¥+Ht

R E

& Al FAG - ~HE 178 X o H g K o B
MIE74F=7V—h
FEOVEL500mm |« SEHTIRE 4.010 m
1. S4+—7L—+k O ERVAY/Fe 4.000 m ERIEEEE 8 B FANT RS
4.0 m
1 4F=7V—h P-6  80mm 162.000 kg/m = 162.000 kg/m
ImY Y EE
WSTARLR M16 13.700  kg/m = 13.700 kg/m
# = 175.700 kg/m
2) 94F=7V—}
1m*4 Y & & - 175.700kg/m <+ (7 X 1.50m X 1.00m) = 37.285 kg/m>
3) FAF—7V—h e 175.700 kg/m X 4.000 m = 702.8 kg 0.703 t
WERE
4) 74+F=7"V—h Eoigy - HikEs = 1.500 m 1.500 m
WMEHEE 175.700 kg/m X 1.500 m = 263.550 kg 0.264 t
5) FAFT=7V—MIW L | s L= =z X1.500 = 4.712 m
t=2.7mm
TN B L= 7 X(0.267+0.10)X 1 = 1.153 m
t=2.7mm
it D L= 7 X(0.267+0.10) X2 = 2.306 m
t=2.7mm i = 8.171 m 8.17 m
6) 74F—7"V—F TN B © VU ¢ 250mm 1457 (C&HME ¢ 267mm)
A Ty7 B 7 /4X(0.26740.10)°2X 37.285kg/m2 X 17 = 3.944 kg
it HH A © VU ¢ 250mm 2657 (CEHME ¢ 267Tmm)
7 /4X(0.267+0.10)2 X 37.285kg/m2 X 2477 = 7.888 kg
sy cWEEERITYT ) = 263.550 kg
3} = 275.382 kg 0.275 t
) I4FT=7V—} o TAF=TV—MEZLES
PR E R 4.000 — 1.500 = 2.500 m
© TAF=7 V- N R S E (R
0.703 —  0.275 = 0.428 t 0.428 t
8) F4+=7"L—Fh PN - # 1 = 275.4 kg 0.275 t
TR R
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M1-1-1-1c-1-1 I T {R¥+Ht

G )

& Al Hg-~HiE & E v '# ® R B =
2. 959+ “TAF=T V=D ELAD AL, FAT—7 VMR LD EE5emDE S5 EET 5,
X B HEW, ek TYE I8 HE KON SR (20204 23ThR) P.134
D BEABROHE M DHAEOENE (V) IX,
© V= 0.097 (Bc+0.09) XH (m®)
f:fib\ Be 3,{-)—__7"]/__]\@ (m) ......................... 1.50m
H : SHiES (m)
B : @i 7L —ME (m)
MEOEEOEAR (V)
V=0.09x (Be+0.09) XH ( nt)
L Be: ¥4 F—7Vv—FE (m)
H ;bR (m) T il
BT L—ME (m]} {\\Lv T s [t ]I
BEROESOEAR (V) \Q} ’ |
V=008 (D+0.09) ®xH+ § &
0.18 {L—D) xH 7
=L D FAF—71L—rEE (m) 4 F;_
L g4F—7 L — bR (m) P |
H : ks (m} _'5CJ'T'|
By L— @ {m)
3.7-7 45 FEATE
2) HEAES CFEARS H= MArES —fEgs
= 4.000 —  1.490 = 2,510 m
3) AR © V= 0.097 X ( Bc+0.09) XH
= 0.097 X (1.50040.09 ) X 2.510 = 1.128 m® 1.13 m?
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M1-1-1-1c-1-1 ST T RHEH A OE B
i# bill BTk B& E U E = H =
3. HA(rRavyy—+T
1) = 2)—hL 18-8-25BB - V= (2.5002— 7 /4 X 1.5002) X 0.300 1.345 m’ 1.35 m®
J£ 30 cm
2) ML © A= 2.500X0.300X4 3.000 m’ 3.00 m?
3) AFM5 T Collt + V= (2.5002— 7 /4 X 1.50072) X 0.300 1.345 m’ 1.35 m®
4) HHEA RC-40 © A= 2.500X"2- 7 /4X1.500"2 4.483 m® 4.48 m?
t=10cm
4. STHTERT
D =2 7Y—h L 18-8-40BB © V= 71/4X1.50072X0.150 0.265 m’ 0.27 m’®
J£ 15 cm
5ZIIRT
BT P78 AR SEHUEOME ¢ 1500H 1 M
[ © A= 7/4X2.000°2 3.142 m® 3.14 m?
HEEZEE) - W= o 0.730 t 0.730 t
(Frantik)
I ERE L 3.14 m?
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